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Question Number : 1 Question Id : 4928631761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The set of all values of x and the set of all values of a for which the real valued function

f (x) = \/log,(x—[x]) is defined are respectively

f(x) =Jloga(x—[x]) O3 J"RN Soregloio AGNEIDoghin ol o) X Jevde
QS 0L B 0 JLVIO VNS SLIT

Options :

, ¢ R-Z &(0.1)
.« Z & R—{0.1}
s % Z~& (1,0)

4 ® R&'R

Question Number : 2 Question Id : 4928631762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

.
x“+3x-=7. x>0

A function f: R—-{0}— R isdefinedas f(x)=
h(x) . 2l

If £(x)is an odd function then A(x) =

FiR-{0} 5 R &3 gdavo fe)={F T >0 ssosm08. fx) w8
h(x) . =0

2 DooI8 hi(x) =
Option_s:

g |

y o X3
v -~

> %X +3x-7
% &

iyl +3x+7
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4.

g
% —X —3x+7

Question Number : 3 Question Id : 4928631763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e 1.*" 1s divisible by

X"+ " & hoRb

Options :

).

2.

=

x—y forall ne N

xX=y, o ne N o
% :

x+vy forall ne N

ﬁ'r+jx o) ne N of

x+y forall n=2m—-1. me N

V'x+.1‘,. od) n=2m—-1. me N o

x+y forall n=2m_  me N

x+y, o0 n=2m. meN o

Question Number : 4 Question Id : 4928631764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Let A be the set of all 3%3 determinants with entries 0 or 1 only and B be the subset of
A consisting of all determunants with value 1. If C 1s the subset of A consisting of all
determinants with value —1. then

As3 0 B 15r@d Srosaom §OAS ey 3%3 Jodsre S8 Hodsw B o3
R}cg:déu Jend 1*:5&305 ©d) K)G;ds*-e.n OAS A Bwg), &ddN8 edhsvomro. C OO
T80 Jend -1 @5535 @) ATEFr &N A B, GHIE SO0

Options :

1

% n(C)=0
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- .H(B) =n(C)

. x A=BUC

= n(B)=2n(A)

Question Number : 5 Question Id : 4928631765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 bc+ad b’c® +a’d?
1 ca+bd c*a*+b*d?

1 ab+cd a*b*+c%d?

Options :

e @D (b-0)(c-d)(a-d)(a—c)(d-D)

, v (@a=b)(a-c)(b-c)(b-d) (a—d) (c-ad)
3 % (@a—b)(a—c)(a—d)(b—c)(D—-d) (d-rc)

W @B (b= (c-d) (b-d)

Question Number : 6 Question Id : 4928631766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
The set of real values of o for which the system of linear equations :

x+(sine)y +(cosa)z =0
x+(cos@)y+(sina)z=0
—x+(sina)y —(cosa)z =0
has a non-trivial solution 1s

X+ (sma)yv+(cosa)z =
X+ (cosa)y+(sinex):z =
—x+(sin@)y—(cosa@)z =0 o3 E&rS HDoE8e 5§08 BBSE FES w08, A DwE),

TN DI D

Options :
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3 ¢

o T I 71 1S an mteger

2 4 8 (ot T o85W0)
;z- ﬂ' < - - P -
% +(=1)" - (7 1S an mteger)

(n 28 JrTosddnw)

nx T 1S an mteger

PRl -E @ get)
- 8 8 (nog droossn)

T T 71 1S an mteger
_+(_l)ﬂ___ ( . )
2 4 8

(n 2.8 Yrorosdw)

Question Number : 7 Question Id : 4928631767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1-107 cosé

If .
1—10+/3i sin®

1-107 cosé#
1-104/3i sin® S
Optinn_s:
ad
i & 6
z
o> % 4
z
3 % 3

1s purely real. then one of the values of 8 1s

OO ri.aé TR, 0 SwE), Dended” wl Jeod

-

el
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Question Number : 8 Question Id : 4928631768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
- 3z
If - and w are complex numbers such that = —7 w=0 and Arg(zw) = G then Arg-=

T et = | 3;{- F - -
2508050 wen Z—Ii w=0 %dc5» Arg(:w):T @o‘ﬁagu.:g G008 Dol QOPLOONS

0K

wo|N

> of
T
4

3T

4IWT

Question Number : 9 Question Id : 4928631769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of complex roots of the equation x'' — x” + x* —1=0 whose arguments lie in
the first quadrant 1s

M ox"+x*—1=0 3860 BwE), Sororest, JNEE FEos® sairdres §OAS
éugg Sorore dopg

Options :

1. 2
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Question Number : 10 Question Id : 4928631770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If ais aroot of > —z+1=0 then

| 2014 1 2015 1 i 2016 1 7 2017 1 j
& i 2014 i o * 2015 L e * 2016 s B * 2017 w

¢ ¢ o o o
' 5
1 -
2018 -
(g T —Zo0s | =
&
= I 2 o o
o038 z°—z+1=0 G00Y), 2.8 Sore0oNS

{1,2014_1_ 1 4 a.2015_|_ 1 1_|_ 0,2016_'_ 1 3+ (1,2017_‘_ 1 4_’_
2014 2015 2016 2017

"
—

Question Number : 11 Question Id : 4928631771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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" 2
Let EIEa.T2+bx+c. E.=bx*+cx+a. E.=cx>+bx+a and +—4—=3,
* bc ca ab

If these quadratic expressions have a common zero, then the quadratic expression having
zeroes that are common to E, and E; and different from the zeroes of E, is

, | , 2 32 3
) v b
E =ax*+bx+c. Ey=bx*+cex+a. E;=cx*+bx+a %0805 il I
bc ca ab
VDBOTo. & T JTOW ol wIE DI VLD @08, E, Bng) Ldglenden

800, E, 0boiw B30 $rdg dended edodm @08 Prdglenden Ko S§ ddrdo

Options :
, a(b+c)

x+bc

X
L% be

P
> % ax"+bx+c

- > —b(c+a)x+ac

2 a(b+c) al
B X+

bc bc

X
4

Question Number : 12 Question Id : 4928631772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

112 +12x+6

2
x“+4x+2

If for any real x, =v issuchthaty<aory > bthena. b are

| 11x2 +12x+6 |
QBT TRS Jewd x &, = =) o380 y<adz y > boddgin ol
a x“+4x+2 ; ' ¥

a.beo
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Question Number : 13 Question Id : 4928631773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Given that the roots of +* +3 p:rz +3gx+r=0 are i harmonic progression. Then

x3 +4- 31)_1'2 ags 3(}1 +7r=0 @Jé&r SATCETEN @Téég @@E‘jﬁ ﬁr:@"l@”ﬂ)c’b @T&d) ‘Q—Eéjéb

Options :

v 20 =rGpg-r)
¢ =rG3pg-r)

> 8

.« ¢ =-1(3pg-7)

E. e
o =r(r+3pq)

Question Number : 14 Question Id : 4928631774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If o, B, yare the roots of x° + px* +gx+r=0.then & + > +° =

o, B, yeo X +p.r3 +gx+r=0 cﬁ:oégr Sarereoasd o +/5’3 +73 —
Optiﬂn_s:

ol P =3pg+r
5 % pz—-2pq+r
L, 3pg=3r-p}
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i % 3pq+3r+p3

Question Number : 15 Question Id : 4928631775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of proper divisors of the number obtained by dividing 13! with 100 1s

13! & 100 B8 riowm IT) Sopg o), HE Trasro Sopg

Options :
v 218

> « 430
3 ® 214

4 ® 790

Question Number : 16 Question Id : 4928631776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In an admission test. there are 15 multiple choice questions. Each question 1s followed by
4 alternatives to choose. Out of these there may be one or more than one correct answers.
If a student attempts all the 15 questions and marks the answers randomly. then number of
different ways he can answer the question paper 1s

28 P37 H08S® 15 0TvFMNE PHew BoP. B8 ©BF) &HSS 4 Bergdmaired & anow.
Q8S* w88 B wodEoB JEN D (RS gATAITen VOGN VICTIV) 00, &
Qg0 15 @Hosr ddrdypgor DIEFTEN R, O8H 8 PNJESVE JSrFESHOn
I IT© Jopg

Options :

o 4¥15¢,
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Question Number : 17 Question Id : 4928631777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The absolute value of the numerically greatest term in the expansion of (2x—3y)"* when

Question Number : 18 Question Id : 4928631778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
- -

iy [ b s
The sum to infinite terms of the series + +:-10 e 13
10 10.15 10.15.20

(9

.3+ 3.7 3.7.9
10 10.15  10.15.20

00 JE%, @3 @3S vdoddmeo Indgo

Options

i
545

B
5

2.
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Question Number : 19 Question Id : 4928631779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
3x+2 A - Bx+C

If : = -
(x+D2x“+3) x+1 2x°+3

thenA-B+C=

3x+2 o AR Bx+C
(x+DQ2x*+3) x+1 2x*+3

Options :

gonad A—B+C=

1_331

> o 2

4

%
N

Question Number : 20 Question Id : 4928631780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

. . : . i " . n
s 10 smS50° sm60° sin70° = m and tan20° tan40° tan60° tan80° =n then — =

mn
T P g ) "
sinl0° sinS0° sm60° simn70° = m S06c30 tan20° tand40° tan60° tan80° =n wond — =
m
Options :
33
1. b 4 16

, ¢ 1643
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Question Number : 21 Question Id : 4928631781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A): Ifoo=12° =15° y=18°then
tan2e tan28 +tan 2 tan2y +tan2ytan 2 =1

+ *. .0 o .
Reason (R) : In AABC . tan > tan > +t3113tan—+ tan?mn? =]

dhSS0 (A): a=12° B=15°y=18° ewoxnd

tan2e tan2 +tan2f tan2y +tan 2 ytan 2 =1

580 (R): 'AABC ¢ t.an-é-tang—r-tm1£tm1£—+tan£tan£=l
2 2 2 2 2 2

Which of the following 1s true?
& 808 TAS® A& D& H0?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
i (A) 508050 (R)Bodr 8550 8asw (A)§ (R) 90508 J58e0

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)

(A) 508050 (R)Bodr H8g50, 59 (A) & (R) $0G08 B8 5°&
> R

(A) 1s true. but (R) 1s false

L o (D) 38550, 50 (R) w855
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(A) 1s false. but (R) 1s true

= (A) 838350, 5% (R) D& 9500

Question Number : 22 Question Id : 4928631782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
cotd—tanf—2tan 260 —4tan46 =

Options :

| % 4cot86 —tan 66

. % COt86+tan30

. % COt86+cot6h

, v 8cot88

Question Number : 23 Question Id : 4928631783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the general solution of sin x+ 3sin3x+sin5x =0 is x = y then the set of all values of
COS y 1S

sinx+3sin3x+5in5x =0 B, e FES ¥ =y ©owd 0S¥ Goof), ©) Jewde
QE

Options :

w
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Question Number : 24 Question Id : 4928631784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

e o e o
If Cos™'2x+ Cos 13.1-=-: then x =
3
£
Cos'2x+Cos 1::1‘=T PWONA X =
3

Question Number : 25 Question Id : 4928631785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If coshf =secacosf. sinhf3 =cosecasin @ then sip j;2 B=

2 j 5 > J . 5
coshfl =secarcos@. sinhff =cosecasin® ©ond sinh™f =

Optiun_s .
SN COS
1. %

~ cos’ o
> b

o 1)
s oSN

[ ]
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,  Sila+cosa

Question Number : 26 Question Id : 4928631786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Ina AABC . sinA and sin B satisfy e c(a+b)x+ab=0.then

AABCe&®, sinA.sinBew ¢?x* —c(a+b)x+ab=0 & SWB0

Options :

the triangle 1s acute angled

LY 4

@8 0P8’ |G N0

the triangle 1s obtuse angled

©d 80 |8gha

NE)

sinC =—
2

a+b

SinA+ cosA =
4 ¢ ¢

Question Number : 27 Question Id : 4928631787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Let ABC be an 1sosceles triangle with BC as its base. Then 17, =

ABC 9386 BC esgrdorr o 08 @hadodofoomro. ey 11y =
Options :

L w @

.9
a
2.3%2
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S .
2 ¢ RSIN" A4

, » R'sin"2B

Question Number : 28 Question Id : 4928631788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

InaAABC. .a“‘ + b et =2h%0% +24%h% thenB=

AABCS* a* +b* + ¢ =2b%c? + 2a%h? o8, B=

Options :

X 3%

or

4 4

£ Iy

AT s
1

b4

'3
o ®

T 2

- 01 -

3 2

T 2

T@m —
2 8 2 3

b4 S

6

T Sx

~ 8o —
4% 6 6

Question Number : 29 Question Id : 4928631789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If@=27 +3]+k .5 =7-37 -5k and ¢ =37 — 4k then match the items of List I with

those of List II.
ListI ListII
(a) Unit vector in the direction opposite to thatof @ —b is (i) 574+ 3 -3k
o T e ' _ 8-
(b) If AB=a.BC=b then CA= (i1) 21 _Ek
(¢) If @.b.c are the position vectors of the vertices (iii) _37+4%

(d)

a triangle then. its centroid 1s

6k

e ; i 6
If d 1s avector of magnitude 2\/{1 and parallel (v) — \/ﬁ o J;_3 -

to the vector @. then b —d =

T Bea & e
(V)JE’JFJEJ_

773

3 =

NIE

:227+37+E.IE:JT—37—5E..F:3}T—4F wond, 2rde & vwored =de I

a
S0 LOTOE 2SI

(a)

(b)
(¢)

(d)

rde | e Il

a—b 638 55888 B §OAS RS ¥68 () ST+37-3k

AB=a,BC=b wond CA= i) 27-=Fk
15_[1? 0 o8 |@gheo BoE) %’01@ (111) ,_3?_'_4]?
FS0BFO0B, T ToEFTHIW

o
d 38 2‘\/1_4 R0rpoNe  J8Y BS® (1v) —ﬁ—ﬁ—ﬁ

= &y S8rossom aoB. B—d =

W T

The correct answer 1S
08 Lo BTt

Options :

@ @® ( (@
(@) () () Q)

@ ® () (d
> % (V) () (1) (V)

collegedunia
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(@ () (c) (d)
3 % (v) () (@) ()

@ (@® () (@
g ) (@) (@) (W)

Question Number : 30 Question Id : 4928631790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : _l} . = =
If 2i —j+3k.-12i —j -3k . —i +2j —4k and Ai +2j —k are the position vectors

of four coplanar points then A =

27 —j43k. =127 = =3k . -7 +2j -4k $00050 AT +2j -k o0 Tenfh $8daH
DodoYo FS PDQFoond A=
Options :
g s "‘2
> v 6
“
3 8 O
4 % —6

Question Number : 31 Question Id : 4928631791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A point lying on the plane that passes through the points 7 -7 +k. 7 -27 +3k and

i+2j-3k 18

.?T—]_'+AT.FIT—2]_'+31\T S080%0 I}T+2]_'—3AT DORYOROT I Swowd God ol
OB

Options :

L~ ¥4k
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. 4 +2j+3k
4

Question Number : 32 Question Id : 4928631792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A non zero vector a 1s parallel to the line of intersection of the plane determined by the

vectors 7.7 + 7 and the plane determined by vectors 7 — j. 7 +k . The angle between 7

and (7 — 27 + 2K) is

T oF o T80 564, 7.7+ 96503 dgooodnds Sosn 2005w -7, T+k
HBF0B Agonodnds Soro Pods Ipk virossom woB, T 05D (7 —27 +2k)e
Py 80

Options :

il
6

Question Number : 33 Question Id : 4928631793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The equation of the plane passing through the points with position vectors

A(-27 +67 —6k)- B(=37 +107 —9%) and C(-57 —6F) is

A(=27 +67 —6k). B(-37 +107 —9k) S08c80 (=57 —6k) &0 T Sofeor o 64

NoHoKod FD oo DAESmo
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7 (2i—j—2k)=2
w 7o(i—2j-k)=1
« 7 (2i+j—2k)=3

. x T(+2j-2k)=3

Question Number : 34 Question Id : 4928631794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
If @.b and ¢ are three vectors with magnitudes 1. 1 and 2 respectively and

ax(@x¢)+b =0 .then the angle between 7 and 7 is

a,b.c oo 5&3m 1, 1.2 o0 $0Sresrenmie Sordd S&Fen So8osw ax(@xe)+b =0
@08, a HOXL o D&y o
Options :
2

1. % 5

W N

w
-
=N

R

Question Number : 35 Question Id : 4928631795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The coefficient of variation of the first » natural numbers is

SREE N T VoPge BWE), JWOIT0EIW

100 [n+1

J_ n—1
B [

. 100 Y n—1

100 [n—-1

4 J_ n+1

Question Number : 36 Question Id : 4928631796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : (

Two distributions A and B have the same mean. If their coefficients of variation are 6 and 2
respectively and ¢ , . 0 are their standard deviations. then

A 308050 B @fo Sod Jrraddnest w8 Sfghidn ok, 78 d¥oTrosten SEOHm
6, 2 558050 T8 EDNISOTS 0. 05 Bond

Options :

=3
o 0] Opg
i g b 4 JJA 20-3
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Question Number : 37 Question Id : 4928631797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

From a certam population. the probability of choosing a colour blind man 1s 20 and that of

1
a colour blind woman 1s 10 If a randomly choosen person 1s found to be colour blind. then

the probability that the person is a man 1s

1
a8 AR 2Ty 00d, g ©oddo fo JHDI KT Dogrdgd 20 Sodcdn 3¢
_ 4
©oStole (R INNET Dogrdgd 10 O3 &Y EOMT J0)BOR) 2.8 Hg88 JE LOoHSLH0HE

80%h, g8 POWE TITIE DoerSyd

Options :

-
1.3t9

wlw‘

) | =

Question Number : 38 Question Id : 4928631798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

From a lot containing » good and m bad articles. if 2 articles are picked at random

in succession without replacement. then the probability that the second article picked 1s
bad 1s

N 00ND 005w m B SJPen o el Jdmroio Hod drdygomr 2 SxHod,
LT SHTE HEETAIN, SVSTIA 80H DYYKo&E S8, SJ08S) Todd I8

REE TITAE Jogrdgd
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Options :
m

1 & m-n

m—1

5 % M+n

(n—=1(m-1)

s %  (m+n)

i

4% (m+n)*

Question Number : 39 Question Id : 4928631799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
In a class room 5% of the boys and 2% of the girls are taller than 1.6 metres. The class

consists of 60% girl students. The probability that a randomly selected student 1s taken
than 1.6 metres is

2.8 S888e5° 2rendes® 5% X008 0805» dfeds® 2% So0d 1.6 ibé.:c_:j o8 Qé:zr;’:}
QRN THT. & SEHES” 60% od T i, drdHBomr JDE2ES w8 IT°gd
28 1.6 ib&ééo D00 GodTRE Jogrdgs

)

Question Number : 40 Question Id : 4928631800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The distribution of a random variable X 1s given below:
X=x 1 2 3 4
PX=x) | 2c 4c 6¢ 8¢

Then the standard deviation of X 1s

a8 Oird)E WoTrd X B Jeraddn (Bod oH5ld8
X=x | 2 3 -4
PX=x) | 2c 4¢ 6¢ 8¢

o8 X Bw§) Ed Jbedshn

Options :

1|ﬁ4

3
2

2 ®

Question Number : 41 Question Id : 4928631801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The probability of securing a success in a trial 1s three times that of a failure. The probability
of getting atleast 4 successes in 5 trials 1s

o8 o‘SJe}flué“ 205°Q) Dod Sozrdgd eduoir) D03 Do & 3 Do, LONS

Options :

649
|« 1024

8L
5. 128
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27
s u 64

243

u 1024

Question Number : 42 Question Id : 4928631802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (
If the line joining the points A(bcoser. bsiner) and B(acos /3. asin /) is extended to the
point N(x. v) such that AN : NB=5: a. then

A(bcosa. bsina) 508053 'B(acosﬂﬁ asin f) Do Hos 00 3 AN:NB=b>b:a
edogttn N(r.y) o3 Hodd G 1A

Options :

a-— . O+

X COS 2 + ysm p =0
| % 2 2
o — . -

X COS i + ysin p =0
> % 2 2
o+ . A+

X COS ﬁ+_1'sm ?ﬂ=0
o+ .

X COS ﬁ+1'sm 520
3. 2
4 % - =

Question Number : 43 Question Id : 4928631803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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A straight line x —2y—4 =0 is shifted parallel to it by 3 units away from the origin and
then rotated by an angle of 30° in the anticlockwise direction. If the slope of the new line
formed 1s m. then the integral part of ‘m” 1s

x=2y—4=0 o3 35BS, T8 dSroddon SroDodd o8 Erdor 3 ardL
Erord8 DBIGS BIS 8HT8, B dddge¥s”® 30° o Fwos Yoo IFH. FET
AYBS Bp Tre0 moond, ‘m B, FTo¥ Ko

Options :
B n 1

Question Number : 44 Question Id : 4928631804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If o. and B are the angles made by the normals drawn from the origin to the lines

x+y+ JV2=0and r-\/_ 3y —2 =0 with the positive direction of the X-axis respectively
measured 1n anti-clockwise direction, then o+ B =

0L Peo SHIT™ x+y+42=0 08550 x—3y—2=0 $5¢8po SHrododd $ob
(s vdooadper XY S6¥S° eddighis” B Fworoand, o+ =

Opﬁuqs:
e
w12
297
> x 12
x
3 % 12
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Question Number : 45 Question Id : 4928631805 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

The straight lines x+3y—-4=0.x+y—4=0and 3x+y-4=0

x43y-4=0,x+y—-4=0 500065 3x+y—-4=0

Options :

form an 1sosceles triangle

i

SH0BTT [B0rQ) DI

1 v

are concurrent

, % ©ATTO

form an equilateral triangle

form a right angled 1sosceles triangle

¥

. QouFn SHBErTv Beherd) 8o

DEET

Question Number : 46 Question Id : 4928631806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : (

The combined equation of the straight lines passing through (1. 1) and making an angle of

45° with the straight line x + vy -1 =01s

(1, 1) Do Homdér, x+y—1 =003 3¢ 3p& 45° Fwo Fd S6Wpe G508

HEE20
Options :

| 2x” +3xy—2y° =Tx+y+1=0
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o

: 2
s % Xy+2y" —x—5y—

4.ﬁ

xy—-x-y+1=0

s

2
2x"—xy-3x+y+1=0

Question Number : 47 Question Id : 4928631807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: (0

The centroid of the triangle formed by the pair of straight lines 12x* —20xy + 73> =0 and

the line 2x -3y +4=0 is (0. B). Then o + 2B =

.1‘}

Options :

2 2 ot " ’ } ot
2x" =20xy+7y" =0 3 S5¥0posnr)sn Hdosw 2x—-3y+4=0 &3 J5¢0poB

bd&é Gghzo B0, Bo|BerddSn (o, B) wond o+ 2B =

Question Number : 48 Question Id : 4928631808 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0
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The equation of the bisectors of the angles between the lines joining the origin to the

. . ‘ 2 5 . .
points of intersection of the curve x“ +xy+ 3y~ +x+3y+1=0 and the straight line
X+1+2=0is

.Iz+.Y_1’+_1'2+.T+3J-'+1:0 o3 SES0 0080 x+y+2=0 o3 S6¢Bpe PodS
DodoHhon JoredodhHsd Eodm :3633 D60 Feo DJ0BPoES Sy aS0ifyo BE)
HaEG0

Options :

% .
i 2x" —4xy+y =0

' >
v —4xy+y =0

. 7
23 +4xy +y2 =0

9 2
@ +4xy— 2 =0
4 ¥ i

Question Number : 49 Question Id : 4928631809 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Consider the following statements

II.
T

The intercept made by the circle x* + 3% —2x—4y+1=0 on Y-axis is 24/3

The intercept made by the circle P y* —4x—2y+6=0 on X-axis is 22

The straight line y = 2x+1 cuts the circle x* + y* =9 at two distinct points

Bod RIAFTod H8IO0Sw

L
IL

IT.

Then which one of the following options is correct?
©wond, §08 FAS* J0GDS wEIH?

42 -2x—4y+1=0 o3 5)E50 Yeogsnp 6B vosdpodo 3EH 243

r.rg +}.-‘2—4.1‘—2_1-‘+6=O 3 B30 X-wgow 235363 DoSEPOLO PEY '2\/5

X+y*=9 o3 5HE) y=2x+1 o3 $8¢8p Bodk DD DokoHos® Poddod

Options :

> R

2

|
Tue

:‘Séga‘bo

|
Tue

35500

|
Tue

35500

I
False

11
True

Q&g

I
False

0B Sg50

11
True

HEgH0

11
True

S §00 Q—s-éégé)o éégf}m
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Question Number : 50 Question Id : 4928631810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Ifthe circles x* + y* + 2k x—4y+1=0 and x* + y* —8x—12y+ 43 = 0 touch each other
then k=

0 2 i 9 3
X4+ 1 +2kx—4y+1=0 500050 x*+y°-8x—12y+43=0 &3 SEen
ypFotusootor &8, k=

Options :

L% 2
25‘%1

3&’_1

4 ® —2

Question Number : 51 Question Id : 4928631811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For all real values of k. the point which lies on the polar of (k.k+1) with respect to the

circle x2+ 2 +4x—8y—5=01s

k B, o) T35 deodoso, x2+32 +4x— 8y —5=0 580 Srs (k.h+1) S0,

wi
€9
e—

L

Cﬁaﬁam ® God Do
Options :

o (3.-1)
, » (31)

(2.-2)

Question Number : 52 Question Id : 4928631812 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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; ¥ i 5 el "
The number of common tangents to the circles x4+~ +4x=0 and x* + y* —2x=01s

ol 9 o 3 :
X+ " +4x=0 050 x"+y -2x=0 o3 HTeh o Gid NYore Sopg

Question Number : 53 Question Id : 4928631813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
)

It =

T )
Y+ vy +ax+3v+2=0.a0#0. then o=

is the length of the common chord of the circles x* + y* +2x+2y+1=0 and

. 4 , |
XAV +2x+2v+1=0. ¥ 4+ v s av+3v42=0.a 2 0 ©3 ST a8 =g PEI
g j

SoNS Ol =
J5

Options :

1.@”4

[

Question Number : 54 Question Id : 4928631814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Match the items of List-I with those of List-I1
List-1 List-I1

(a) Equation of the tangent drawn at (2\@) on the

curve y?=4xis (i) -36
(b) Equation of the normal to the curve ?= 16x . that
makes an angle of 45° with 1ts axis 1s (11) 4
(c) The chord joining the points (x,. y,) and (x,. v,) on the
curve y?= 12xis a focal chord if y, y, = (1ii) 8
(d) A value of &k for which x—3 =0 1s the directrix of the
curve 12 — kx + 16 =0 is (V) x—2v+2=0

V) x+y-12=0
(vi) x—y-12=0
NS -] S woTo -1l S voTred 2EDNSHHIN

de-1 FHe-11
() P=4r508 (2V8) 55 avs 0P dossmsn () —36
(b) ?=16x 558, T wgos* 45° Fwo To ©Pwowdy

SBEea S0 (1) 4
(€) ¥=12x5Eo Ko (x. 3. (x,. ¥,) DooHod §&

2y, TP VONB Y, V)= (11) 8

d ¥-kx+16=0 38 x—3 =038 JcH&Bp
ehgbinm od k Deos @) x—2y+2=0
V) x+y-12=0
(Vi) x—-y-12=0
Then which of the following is correct?
©o08, BodTIS’ J0IBH?

Options :

@ ® (@© @
pw (V) (v) () (1)

@@ @® () @
> x (V) (V) () ()
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@ @G () (@
s (V) (vi) (1) (1)

(@ (b () (@
s v W) () () ()

Question Number : 55 Question Id : 4928631815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

An equilateral triangle is inscribed in the parabola y?= 16ax with one of its vertices at the
origin. Then the centroid of that triangle 1s

¥

1?2 = 16ax H0°5005008° wf dHoerdo @Hhadn, T -@o:ese.’i"‘ 88 Jorododhd 5¢

ol

a}"u
GoBLLN ©od8Potd0d. IV © Behadn GBnE) Bo rddn

Options :

1 ® (8(? 0)

. « (16a. 0)

. o (32a.0)

, % (48a. 0)

Question Number : 56 Question Id : 4928631816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

2 2
L]

If the straight line 8x+3~/§y:36 touches the ellipse ; B '14 =2 at (a. b) then

.a-l-x/ib:

g
' X ¥ . -
8x+3v2y =36 &3 $5¢dyp ot =2 o8 885 (a. D) Bosoy 3¢ By

e
a++2b=

Options :

b2
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e
(o))

8
> 8 3

12+ 242
3. % 3

16
4¢3

Question Number : 57 Question Id : 4928631817 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For an ellipse with eccentricity . the centre 1s at the origin. If one of its directrices is

x = 4, then the equation of the ellipse 1s

|
&8) O|& e ity o o8 52&3&@0 Boog), Boo DroNoHIHIE God. x =4 €38 TR

NS’ 2888, sldgin BwE) Do

Options :
;o 3x” +-4y" =12
o 30 +4y7 =49
2 % 3x% +4y°% =1
4x* +3y* =12

Question Number : 58 Question Id : 4928631818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If the product of the slopes of the tangents drawn from an external point P to the hyperbola

2 2
e ‘ 2 :
5 'bg =1 is a constant &2, then the locus of P is
a
'Tz 2
2.8 eridrgDodo Pdood —— -bj =] o3 98 3050058 ADS Eﬁsc’gﬁsp@ TeN® O
¢ 3 % @

k2 20308 P Gwg), Dododgo

Options :

Lo

Z.ﬂ
2 2 ? | 2 2
" +b° =k"(1“-n“)
3 *
2 2 2 2
0 =k“(1"—-a")
4.ﬂ

Question Number : 59 Question Id : 4928631819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Let A. B. C be three points on OX. OY. OZ respectively at the distances 3. 6, 9 from

origin. Let Q be the point (2. 5. 8) and P be the point equidistant from O, A. B. C. Then the
coordinates of the poimnt R which divides PQ in the ratio 3 : 2 1s

A.B. C e 368m OX.0Y.0Z o Srododhd $08 3, 6.9 droes® Ko

DodrPeoosomro. Pedd 0.A.B. Co 08 350887806 Ko Dodd) 0805w Qeid
(2, 5, 8) sssoomro. sdyd PQ& 3:29H86° Igieod DohP R Bwy, Jsrdses

Options :

[17 29 43)
o LI0” 590

LN
i A5 B
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Question Number : 60 Question Id : 4928631820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If the direction cosines of two lines are such that / + m + n = 0. 2+ m? — n*=0 then the
angle between them 1s

Bod H8Epe 855 PR [+m+n=0, P +m* —n’=0 odgbbnm o, & Tpo ¢y
80
Dptinn_s:

ol
6

Wiy Ay

9] N

Question Number : 61 Question Id : 4928631821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If the line joining the points A (1. 0. 0) and B (0. 0. 1) 1s a normal to the plane # which
passes through the point A. then the angle between the planes 7 andx+ y+z =6 is

A(1.0.0)B508050 B (0.0.1) HodHheosds 80w D AdododHom Féh dwo T § of

©@HOou0P wond, T HOFB® ¥+y+:=6 dodweo &g Fwo
gcollegedumaa
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W[y RN oy

o N

4.V

Question Number : 62 Question Id : 4928631822 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

.\/ 1+ —6,024 % . . .
The number of points at which the function f(x A « 15 discontinuous
6-2,/2+ | x

in (—eo.c0) is

Y11+ 62 4]

6—24/2+|x]

N HAoSw (—oo,00) &° 5‘:)@;:’,}5‘:’535 DodoYo Jopg

Options :

(2

Question Number : 63 Question Id : 4928631823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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L =dl—n
“’T_ BY = 1%xdb
If f(x)=1 7"
il . 0<x<1
x—2

1s continuous on [— 1. 1]. thenp =

\{l-i-px—,/l—px Rl
f(x)=1 *
i 0<x<l
x—2

Question Number : 64 Question Id : 4928631824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

If I_v =Tan™ (sin\f; ) +Cosec™ (.el"“ ) then % =
dy _

. o e
y=Tan 1(5111\/;)4-(‘056(? l(e“““) ®AB, d_
X

Options :

[ ]
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1 |

+ 3
) \/:1_'(1+si113\/1_‘) Je 4]
cos\/m_* 2

2R (lesin’r) e
cosxf.x_' 2

ki

(1+Sm2\/;)+\/€4x+2+1
3 %
1 cos\/; = 2
o 2 (esin? V) Yoo

Question Number : 65 Question Id : 4928631825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

If f: R — Ris such that £(3)=16. £'(3)=4. then ling a2l : — =
x— x—:

- ' piia? - . xf(3)=-3f\:
fiR—> Re3s f(3)=16, f'(3)=4. gty &od, Im JA i =

x—3 L

Options :
1« 4

Question Number : 66 Question Id : 4928631826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If._r =¢" (logx). then xy, +(x—1)y=

+']- = er(logx) BoNa, \'12 +(.‘l’—1)_‘|' 2l

Question Number : 67 Question Id : 4928631827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Let f(x)=e" cosx+1. Which of the following statements is always true?

f(x)=e"cosx+1 eddomro. Bod PIVTOS* A& JedYEr 8507

Options :
1. v

Between any two consecutive roots of | f(x)=0 thereisalways arootof " sinx+1=0
F(x)=0 B0, 9 Bod 563 Sorere DEP Jodyd e sinx+1=0 BwE),
8 rodnotnod

> &R

Between any two consecutive roots of £ (x) = 0 there is always aroot of e* sinx—1=0

f(x)=0 B8, D Bodh 568 Sorere DGR Jedyds eFsinx—1=0 S,
W8 QP00 od
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3 %
Between any two consecutive roots of | f(x)=0 there is always a root of ‘e"" cosx=0
f(r) =0 Boo8), 2 Bo HKD Jorere DEI[TT QDY 5 cosx=0 B, o8
AT R00LV0E
4 %
Between any two consecutive roots of | f(x)=0 there is always aroot of e* sinx =0
f(x)=0 Bk, D Bods 568 Sarere DB oD € siny =0 B, o
DAL N00L00 8

Question Number : 68 Question Id : 4928631828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The radius of a circular plate is increasing at the rate of 0.01cm/sec. When the radius 1s
12cm. the rate at which the area increases 1s (in square cn/sec)

o8 JyEsd o BwE), Fgrgo 0.01 Do.0/RES TIPS WHHDGH. FgPFH0
12 20.a0.7 &$dyd, o0 ITege ROA B (S 0.0/ REDos”)

Options :

1 ® 607'[

i v 024

Question Number : 69 Question Id : 4928631829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Let £(x)=x%*. x> 0. The maximum value of £ (x) is

.f{x)=r2e'2x. x>0 sdoocto. f(r) BwE), #02 Dewd

Options :
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Question Number : 70 Question Id : 4928631830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Let f(x) be differentiable on [1, 6] and /(1) =-2. If /() has only one root in (1. 6) then
there exists ce (1. 6) such that

[1.6] 2 f(x) ossedchdn 08w f(1)=-2.(1,6) &' f(x) & o3 abSarosnd,
ce(l, 6) ©38 & dBom SgB5RESTE08.

Options :

, 1
B (f’)‘ig

3 % ¥

5,
L o

4. v S

Question Number : 71 Question Id : 4928631831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If [¢(x)dx =y (x)then [(¢0h)(x)h(x)i(x)dx=

'_[@(-T)d"f =y (x) wond rI(@Oh)(x)h(x)h'(x)dx‘ =

], ® (¢oh)(x)¢'(x)- _[‘359}’)( )W (x)dx+c

(woh)(x)h(x)- I(wolf)(.r)h'(.\']dr+c

> of

. (woh)(x)o(x)— [(woh)(x)¢'(x)dx+c

(w00)(x)h(x)~ [(wod)(x)I (x)dx+c

4 %

Question Number : 72 Question Id : 4928631832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Iff( )=I+l. thenrj‘f(x)drz

t+1
2t +1

.f( it ]=H—l o3, ‘Jf(x)dxz

2t +1

Options :

2

X
—+c
lj
s =

10g(2x—1)+-‘1;-10g(x+1)+c

2.ﬂ y4

%log(2r—l)+c
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Question Number : 73 Question Id : 4928631833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

* —9x% +18

y,
B N

dx =

Options :
| 1‘4
- 9
= s kb A

1 4

Lh
e

+—+06x+cC
4

.TS 3
—+X +6x+cC

3¢ 2
5 3

X X I
~ ——+6x"+c

2

Question Number : 74 Question Id : 4928631834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_[( cotxcot(x+a)+1)dy=
Option_s:
Sl X
cotrlog| |—
L@ sin(x+a)

2. %
log|sin .rcos(x+a]‘+x+c
3 w
COS X
tana log| [— +C
sin(x+a)
4q F

+C

log‘smxsin(x+a)‘+x+c

Question Number : 75 Question Id : 4928631835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0

ol Ayt -
If lim Zﬁ?l’. then e =
n—e 1 4+ 1

Options :

w4

2

w
A\
o

[e—

Question Number : 76 Question Id : 4928631836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

B e
‘1 anx_:r. I
l+sm2x

€ =

SR
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‘ 7 = E e 2
The area bounded by the curve y = x° —3x” 4+ 2x and the X-axis is (in square units)

# ot

5D
Y=X —3x"+2x JESn Hocdw X-ewsod sI8odwdd (Frod ITogdn (SEIH
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The general solution of the differential equation cos(x + v)dy = dx is

cos(x+y)dy=dx o3 ostod SHEnsn G, Fn FES

Option‘s:
(o ¥ =sec(x+y)+c

]

1
¥ tan': =X+C

_1'=ltan(_x+_r)+c
4 % 2
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The general solution of the differential equation (x3 —3xy° ) dx = (_1'3 - 3.1‘3_1*) dy 18

(2® =307 )dv=(1? 327y ) dy 3 estos sDoksmo BwE, FTTD FES

Where c 1s an arbitrary constant
C 38 o8 SrdyE Vo3
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The differential equation corresponding to all the circles lying m the first quadrant and
touching the coordinate axes 1s

QEFISTT O DT B EEFB0S” ¢od ) ST 0208008 BIEOS SWEGSED
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Match the entries in column A with those in column B.
Column-A Column-B

(a) Unified interaction reducing the (1) Strong interaction
number of fundamental forces from
four to three

(b) Force between two molecules (11) Gravitational force
separated by a distance near about the

sum of the molecular radi
(¢) Nuclear binding force (111) Electroweak interaction
(d) Bodies of astronomical proportions (1v) Electromagnetic interaction

So-A SR THOH sto-B SR ordHod 2ddddhdn
SPO0-A sow-B
(a) |FPEAE woren Tl ok Boedd (1) 20D oJgsgtds
Dot a2 888 oSS58
(b) ‘o snHen T8 SENT G T O (i1) HS&grweo
0FE JIrIDS Brd0S” VLD
T8 DFgio ol
(€) Boid8 2088 250 (ill) 20TS8S IBgs e gdgwds
(d) /¢ Sddrmole SHHeo (V) deogdoiorm o8 oJgdguds

The correct answer 1s

08 LoD 1aTme

Options :

(a) (b) (c) (d)
L Gi) () (i) (ii)
(a) (b) (c) (d)
e i) () (ii) (iv)
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(a) (b) (c) (d)
3 % (1) (1) (iv) (ii)
(a) (b) (¢) (d)
. » (1) (1) (iii) (iv)
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Assertion (A) :  Electromagnetic force is enormously strong as compared to gravitational

force. Yet. gravity dominates in the large-scale phenomena (e.g. formation
of galaxies).

Reason (R) : Existence of positive and negative charges make matter mostly electrically
neutral.

APFI50 (A):  ddogdoioarm o8 weo Hddrweo §ol edsdiormr 2oS8. @0&32553&33,
EOSTS Syficoiros® (Gorirdnd Rurfien J8EE0) Hdbémered

D WO

a_

80 (R): éwgeﬁwéf B B080H0 220060 BT € 0880 BH T T HEE ééacgorv
ool

Which of the following is true?
& 1808 TUS" B DBEgH0?
Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

i (A) S08050 (R) o0 Bodsr S&gan 08w (A) 8 (R) S80S DSden

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
, & (A)S080in (R) o Bodr S50, 570 (A) & (R) OGS 88 576

(A) 1s true. but (R) 1s false
- (A) Jgh0, 570 (R) e9d&gdmw
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(A) 1s false. but (R) 1s true

. (A) 38550, 520 (R) d&gdm
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An object moves in a straight line with deceleration whose magnitude varies with velocity

-
as 3‘.5'7é . If at an nitial point, the velocity 1s 8 my/sec. then the distance travelled by the
object before it stops 1s

R
-
(4
Y
O
gA
&n

a8 SP) J6¢0p Irfod® & 2002080580 DO0RTENN JVOD SS0D 3v
§0end0d. 0 DodP 3§ T Irhsw 8 m/sec wond, & INI IHO
50008 PosrBoih Srdsn

Options :

, % 2

2_,,,»4111

3.5* 6111

4% oM
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A particle starts from origin at time 7= 0 and moves in positive X-direction. Its velocity v

varies with time as v =10¢7 cm/sec . The distance covered by the particle in 8 sec. will be

&8 82030, 1=050d0 38 Sorodothy) Lo FEod 85 X-HIS Fdeodod.
82 30 V, vood V=10t cm/sec I Sr&HE00d. 8 DESS' © Endn HATBo
Sorg S0

Options :
1 ¢ 320 cm
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> % 80 cm

.
, 120 cm

w

640 cm

4 %
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Consider an object kept at the center. in the XY plane. on which five coplanar forces act as
shown in the figure. The resultant force on the object 1s

Se0e* Srds Do XY eos® Soldn 5§ @odsd SNI» o8 ddde weren

—

DAV Fow. SH 2 o 08 oo
P _ O
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Options :

. 6.5N.330°
. % 6.5N. 300°

. % 6.5N,30°

. % S.7N. 331°
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Consider an object making uniform motion around a circle of radius 5 m with tangential
velocity 2 ms™. The time it takes to complete 2 revolutions and the magnitude of acceleration
respectively are

8 S0P S magrgorio Sgo Sy 2 msT HEBPoR Ko’ J888 KT Q) Bdod.
& S99 Bodko JPFedned I Vodwbdd Hinsrodn ol Srdn H8Srmden
STeShTon

Options :
x 02ms & 0.8 ms™

, % 0.5ms & 1.0ms™
.o 10ms&0.8 ms—

o Sts & Sms™
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A small block starts sliding down an inclined plane forming an angle 45° with horizontal.

The coefficient of friction u, varies with distance s as u = cs* where ‘c’ is a constant of
appropriate dimensions. Then. distance covered by the block before it stops 1s

o8 DF) BF0) §82057080°08 45° Frdkin Basn TeudoP Bod i (FEodH0b.
208 HoEdn U, Erdo s& U= s’ SrSHS08 (e ¢ oIH HBGHS el
R8T°3), B30y BAFITIE S0 b HAlrdods &rddn

Options :

collegedunia

—



Question Number : 88 Question Id : 4928631848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A movable steel plate 1s placed between fixed steel and brass plates and the stack of plates
is subjected to a weight of 100 N as shown i the figure. The coetficient of kinetic friction
for steel on steel 1s 0.57 and for steel on brass 1s 0.44. Assuming that the entire weight
comes onto the stack and that the weight of the plates is negligible in comparison to the
applied weight. the force required to move the middle plate in N 1s

Sdofio o i) Q08 %doﬁ’ DAV &8y, 0B 8L Joso DY vl &
SO IR WLoS” Wrad AFom 100N o) sFBoT . B8 -8y, iz ol
o800 0..57 0otn &8 -EE 182 D8N 0.44. Inddn Fridn Joso
SgIFD HIVI:, Do grdo NIPE G0’ FYIYH 0 IDPohnEB, HFgHes

Weight

erS0

Steel (&80

Steel (¢ 59,)

Brass (24%)
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A car of mass 1200 kg (together with the driver) 1s moving with a constant acceleration of
2 m/s*. How much power does the engine generate at the instance when the speed reaches
20 m/s ? (Assume that the coefficient of friction between the car and the road 1s 0.5).

1200 kg G330°3 (S'E5AD BenHER) o w8 578 2 m/s? E‘gd $08e008° D0reddob.
580 S& 20 m/s W8S Eradwes* & 578 ao@hmw &S\ R foves) ﬁ*éoggzﬁw
(5780 Sododn Sorgson (road) o S0gg Sodee eedo 0.5 m o8 odw)

Options :

| 48000 W
. % 120000 W
_ » 168000 W

, % 288000 W
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A ball moving with a velocity v. collides head on with a stationary second ball of same mass.
After the collision the velocity of the first ball 1s reduced to 0.15 v. The kinetic energy of
the system 1s decreased nearly by

a8 208 V Ios’ Ehendr T (550738 dSrSS QHORES N Todd 2osE
0grinnd ©PIrESn Bobd. ePdrdo 80718 Judd 208 o 0.15 vE 836, Sg5
Ry, KBRS SiHde BoSrdm
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A uniform disk of mass 100 kg and radius 2 m 1s rotating at 1 rad/s about a perpendicular
axis passing through its center. A boy of mass 60 kg. standing at the center of the disk
suddenly jumps to a pomnt which 1s 1 m from the center of the disk. The final angular velocity
of the boy (in rad/s) 1s

100 8. . ($S550°8 $080%0 2 D, TgrgInte o8 2868 Dy T oBSw Sood IHd)
woneio Mo 1rads & @eres Bdod. DeBoEdn 5§ JSHF) 60 kg $S55073Ke
o8 et oS DeBoo od 1 m drdodie Doy S SrEd. & el
B8 (1P IS ThoHS/P o’

Options :

¢ 077
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A force Fy = A} 1s applied to a poimnt whose radius vector 7, = ai while a force F» = Bi

1s applied to the point whose radius vector -FE = b j . Both the radius vectors are determined
relative to the origin of the coordinate axes ‘O’. The moment of the force relative to 'O' 1s

TG 988 Ty = ai Ko Doty Fir=A] oo, F, =b | o5gdasio 55 Dob9p

Fy=Bi »erd) o53885n 3vad. ok g sbdos Asrsspe Srodothd
'0' H8orr JT0E50 Bh, ‘0 Dot HSorr weETHES

Options :

. v (ad—bB)k

-l (a4A—bB) j
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_ . (ab—AB)k

, « (aB=bA)j
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Two springs of spring constant /; and k, are connected by a mass “m’ as shown in the figure.
Under negligible friction. if the mass 1s displaced by small amount “x” from its equilibrium
position and released. the period of oscillation 1s

ky 8050 ky@yof Qurostende Bok @yofosd ‘m’ |KHgores” HLdnd’ Srad ddom
BORT . IJBoWBAN e Grd)OyED, BRI IR JT"RE Wod S8y, DOIrad0N)

IR0 X’ EOA0N 8O3 R FoTre 83835700

k; k
—\WWW— m —M?'W—
Options :
5 m(k, + k)
ki,

Question Number : 94 Question Id : 4928631854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

el

Correct: 1 Wrong : (



The density of a solid sphere of radius R 1s p(r) = 20;_3 . where r 1s the distance from its

center. If the gravitational field due to this sphere at a distance 4 R from its center 1s £ and

E

G 1s the gravitational constant. the ratio CR 1S

2

R Tgdgsniio o wIFEH Foss plr)= 20%. 2yl 36 BoEsm Sob ErEhEw.
& F'do S0 T Soo %08 4 R Erdos® Sesih Hdé: mosn E 580500 Hdss

E
QTPo8dn G oIy, GR QG Jend

Options :

T
5

3

ELs
2

4.¢ R
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In a tensile test on a metal bar of diameter 0.015 m and length 0.2 m. the relation between
the load and elongation within the proportional limit is found to be F = 97.2x10° (AL).

where F is the load in Nand A L is the elongation in m. The Young's modulus of the material
in GPa 1s

0.2 m &Y 850 0.015 morgddn Ho wd 5P SokdnD, NS IrdoFrd oS,
2008 S8 HOES® rorAs Sododw 3G 5508 Dodgio Domodsn F=97.2x 10°(AL)r
howd. Rl Fedd rdo Sorghds® 508050 AL 038 BEgH)8 bede’. & a7
oboh Heeso GPa o’
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A tank of height 15 m and cross-section area 10 m? is filled with water. There is a small

hole of cross-section area ‘a” which 1s much smaller than the container. located at a height
of 12 m from the base of the container. How much force should be applied with a piston at
the top level. so that the water coming out of the hole hits the ground at a distance of 16 m.
(Take density of water = 1000 kg/m?)

15 m & Hdcsn 10 m? 5’)05553&65 STogole o8 B0 A8E Jovardh. &8 wdid
o 008 12 M IRNS™ ‘a’ BGgHE Togdnlie wf D) Sogdn tHb. 8 inégaq'jcﬁ
STog0 808 JoFR HEgHE ITogdn Tor S8, SodSaood wohis S5y A
I 16 M Erdoss® 858508 D Fondiifo DRI oHSeSIn FabIond podw
(NS Fogs = 1000 kg/m’ = &508"S5050)

T il

15m .
12m \\
5
\
. 1‘
///////////17{77777:
:(—'16 111'—):
Options :
2733 k
L@ 233 kN
. % 200 kN
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. % 320kN

, » 400kN
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An ideal gas has molar heat capacity C,, at constant volume. The gas undergoes a process

wherein the temperature changes as T=T, (1+aV~) . where T and V are temperature and

volume respectively. T, and o are positive constants. The molar heat capacity C of the
gas 1s given as C=C_+Rf (V). where f (V) 1s a function of volume. The expression for

(V) is

w8 BEHTENY PEWIB5rmo 5§ Ko Irerd GIFHPSH C,. TosnY SIS

T=T,(1+a V?)m 508 SEchs *590s. afie T 58050 Veo 368w

SYES 0w H5B0Irmo. Ty $r0050 o 63D &S Jorosew. & TN Irerd
&g Foggsn C=C,+Rf(V) m asidss. afie (V) o386 05305009

SHoohdn. F(V) & Ko 55050

Options :
2

aV~
. 1H@V

‘l+aV2
20V?

> of

. AV (1+aV?)

|

i 20V (1 +aV?)
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A container i1s filled with liquid that cools from 100 °C to 70 °C in 5 min. when kept at

room temperature of 30 °C. The tume that it must have taken to cool down to 80 °C from its
iitial temperature approximately 1s

a8 (53508 QodadS FED 30 °CHd IS S GoddYHd, @& S mneos® 100 °C
o0& 70 °C & Spadd. o7l O ad od 80 °C of Joadamrds Ky sTodw
0o dom

Options :

, % 1.7min

i 2.6 min

;% S.2min

4 » 4.1mm
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An 1deal gas 1n a cylinder 1s compressed adiabatically to one-third of its original volume.
A work of 45 J 1s done on the gas by the process. The change in internal energy of the gas
and the heat flowed into the gas. respectively are

a8 Jrddwes i S E)T 05000 “ﬁdﬁ-@@ié PEODNS® TR O P8I P
306080 S0nESB50 DRI, & RESHS” Tradn 45 T I DB, To5H
@oégéé_énﬁ‘@ 53*6% 20003 TOSNYS V8 (DRNT0DS RV AT

Options :

45 J and zero

45 J 508050 E&J«‘S_)
1. v “

— 45 J and zero
— 45 J 5080500 S0y

> R
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45 J and heat flows out of the gas

- 45 J S08a80 Tranddood ¢r3hon 2oiB WATTRod
—45 J and heat flows into the gas
, o — 35 000 TonHSTIE wPEn HITH0s
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In a cubic container of mner side length 10 cm. nmitrogen gas of 100 kPa pressure 1s
maintained at 300 K. If the pressure inside the gas 1s increased to 300 kPa by adding oxygen
gas, the ratio of number of N, to O, molecules in the container 1s

10 cm @088 H2H dEHhe w8 HHaosd IS, 100 kPa »ddo SHdosw 300 K
SRS Ho P2 TARHH GoATH. ToNH SWHO WETIY siHuS TosHo
Sendor 300 kPa % oY%, 8 FESA I 2S N, Hdcsn sz 0, voheo
QOPLO VNS

Options :

1. ¢ 05
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A source of sound whose frequency is 1000 Hz 1s moving with a speed 33 m/s. The waves
reflected by a fixed obstacle are registered by a receiver that moves together with
the source. (the speed of the sound waves 1s 330 mv/s). The frequency registered by the
recelver 1s

1000 Hz © i)‘éz@égmﬁ@ 28 S0 2AEIW 33 NVS 3B EK0endrod. %d I8’ E50N00d
DTG0 BobS Sboron & 238I0S” EHDendd) (TirEdnsd® Sk ToDadISa.
rgos® $378% Somre FS:Sgs0 (K Sbome 38 = 330 m/s)

Options :

0.9 kHz

l_ﬂ

1.1 kHz

> R

. o L2kHz

u 126D
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Figure shows a ray of light entering and passing through a dense glass slab and emerging
from the other side. If the angle i = 60°. slab thickness 5 = 0.04 m and the refractive index

of glass = /3 . the parallel shift ‘d” between the emerging and entering rays in mm is

808 HLoS® &8 50880 NN FoEEY Mar DeEod” PIZ0N PoSraddr JoiY) TodIIY
08 2ESIETR) WrLT K. Sl i = 60°. Jof Soddw b=0.04 m SH8cin
SETSS HomEsn =3 condS, HIS S0k B SSmre EgKe BEFOSS
DFHIBw, ‘d’ mmos*

Options :
3
1. % 4
4
2 % 3
40
3 v V3
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Let S, be the amount of Rayleigh scattered light of wavelength A, and S, that of light of
wavelength A, from a particle of size ‘a’. Which of the following statements 1s true

‘a’ H0Srofe w o ood A, édoﬁ@%oﬁﬂ: 0O S0 5708 Jend S; Hodadw
A, S80K8BY gofe BO HOFLE 5708 Jend S,vadT, §o8 2B ST S” J=JoIs

: [%) if 4. A, >>a
iz[.’]”;]“;,ll,,q,lwa @008
L
23 e a
%:(%}4;‘,11_ A, >>a sond
2. % - )
a8 e
. i:(%]i M. Ay <<a ©ond
a8 e
%:(%}4;',}1 A, << a wond
-
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In a Young's double slit experiment. a monochromatic light of wavelength 600 nm 1s used.
If the two slits are covered by transparent sheets of thickness 0.132 mm and 0.1 mm of
refractive index 1.5. the number of fringes that will shift due to mtroduction of the sheets

are

w8 oDofi zob VOEe PEE>HSNS' 600 N SSoKBE g0 o IESY 5708 FETR.
&% Do DO 0.132 mm So80sn 0.1 mm S00850508 S0dosn S8FSStedo 1.5
fo PEEGHE Jedod §SHd, Juiodotido S DTN Vo VLo Jowpg

Options :

40

22

3 x 00

4‘,80
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The volume charge density in a spherical ball of radius R varies with distance » from the

El

3
centre as P(r) = p,|1- [ }E) where p, is a constant. The radius at which the field would

be maximum 1s

Ragrddodio o8 Aesd 208 85 63¥ Foldd o7 o@dn $008 1 drddod®

o

%3
}'4 . .
P() = py 1-{}3) ™ Srdéod. Ay P, I8 RT3, M58 208 J TgFrgo O&

BBS0 KHdRom Gotnod

Options :
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The potential ¢(x.y) of an electrostatic field £ = a(yi + xj) 1

[ais a constant and 7 and j are unit vectors along X and Y axes]

E=a(yi +x) 28 2% 389 FBAHS (x,y) dens

(a 038 o8 PETT 0D 7, 03D X 500050 Y egoion Hire Ho¥e)

Options :
—2axyv+c  (c1saconstant)
(c ©38 RBo3)
1. ¢ ‘
axy +c (c 15 a constant)
(c 938 RBo°3)
2 % |

. :
axy+c (c 15 a constant)

(c 38 N6o"3)

-
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a(nr;r):'E +cC (c 1s a constant)

(c 38 DEo°3)
o
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A resistance network 1s connected to a battery as shown in the figure below. If the internal
resistance of the battery 1s 5 €. the value of R (in £2) for maximum power delivered to the
network 1s

o8 Wl Ao w8 ITEE o) NLINSE® FOVTW. LY oddE ITEHW

5 Q &0 2RIIR’, o5 8 ﬁS@ Eb*.—‘fqugé{il ':;q;’::“gca‘-'ébé 5008 R dend, ) ees®

3R R
'WW WW
4R R
2R 3R
WW WW
5Q
||
II
Options :
)
1.
2 % 4
3 % 5
4 % 6

Question Number : 108 Question Id : 4928631868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Find the voltage V, across R, for the given circuit

BKS 2D Soahind® R, die &F) FBAHE V, deod

R4 Rj
WW WW |
8 Q
R, 220 Ry §3 Q
V=12
BN =G
Options :
. 056V
> % 1.61V
sy 063V
. 021V

4,

Question Number : 109 Question Id : 4928631869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A moving coil galvanometer has a rectangular wire coil of enclosed area 0.001 m? and
500 turns. The coil operates in a radial magnetic field of 0.2 T and carries a current of

.6;r %107° A . If the torsional spring constant is '6x 107" N.mv/rad . the angular deflection of
the coil in radians 1s

08 SoBRS Mod® tods® 500 thién $odasw 0.001 m* s5)8 Irogofeo 8K SJ85w
S0k, & 8K3HS50 0.2 T3acHS ©ohamod FEsnse HBdz 6rx10°A dkgs
BITER) EONCS0NB. I3 Ryoff orossn 6x107 N.m/rad @ond, & 335 S'bos

©558550 BBHES*
gcollegeduniaa
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Question Number : 110 Question Id : 4928631870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A charge ¢ enters a region having electric field £ and magnetic field B with velocity v .

If 1t continues to move with the same velocity then which of the following statements 1s
not true

g8 FES0 E 508050 wohdmo8 §8s» B mre of $8%08° qedisn v 3os’
5395908, & eB90 B K508 KT FSFAY, KOS AYS ISCBNOS* HOTSE
A

Options :
1 % EE’:O
gop BV
If v-B=0 then v=E£X8
B-B
v-B=0 ®c0d i‘:g)(?
B-B
3 &
xE=B
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Question Number : 111 Question Id : 4928631871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Two 1dentical bar magnets of magnetic moment M each. are placed along X and Y axis

respectively at a distance d from the origin (as shown in the figure). The origin lies on
perpendicular bisector of magnet placed on X-axis and on the magnetic axis of magnet

ly M
placed on Y-axis. If the magnitude of total magnetic field at the originis B =« [iﬁ ‘(—}‘3'} ;

the value of constant o will be :
(d >>I. where / 1s the length of the bar magnets and direction of N to S in magnets 1s
opposite with respect to each other)

288,00 oI o8 prdio M fo Tok JHRIrIDS Somrchd oo LS
Brnd dFomr X 0005w Y osre JFoad Sorododhd) ood d Erfosst GodTd.
Drodolnd X ofon $odd eI o8 ©oaddipodd Sp Sdan Y efdnD

(d >>l 2@l | «386 Somabdar oo FEY O ecdFyody) N Sod S &fw
LETIEEL Sg&B8om Godrow)

Y
t'd N
* |N
— — X
* S
d
; P 1S
WML
t | N

Options :
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Question Number : 112 Question Id : 4928631872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

A conducting rod of length L lies in X-Y plane and makes an angle 30° with the X-axis. One
end of the rod lies at origin initially. A magnetic field also exists in the region pointing

3
along positive Z-direction. The magnitude of the magnetic field varies with y as By (f)

where B, 1s a constants. At some nstant the rod starts moving with a velocity v, along
X-axis. The emf induced in the rod 1s

L 28Hf0 o8 358 8§ X-Y Sosns® X-0kos 30° SFard) Scsndos)d. Snse, 64
28 D38 Sorobold 5§ GHB. © HBESNS' Z-BIS ©chdmod TS50 Srd ok,

, V
©o), 08 F& H0BITBD ¥ Jends” BO['—) T SrS808. il By o386 o8 o3
# I_, -

&5 08 o’ e é% X- @80 Joad V) IK08 E80endrod. ey ééeﬁ“‘ bdﬂ}dﬁé (@06
o).85.2.

Options :

B,v,L
v 64

B,v,L
> R 16

B,v,L

3.ﬁ

i 64 B,v,L

Question Number : 113 Question Id : 4928631873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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An oscillating circuit consisting of a capacitor with capacitance C = 10 pF. a coil with
inductance L= 6.0 uH and active resistance R = 10 Q. The mean power that should be fed
to the circuit to maintain undamped harmonic oscillations with an external driving power
with 50 Hzanda V_,0f 280 V 1s

o8 Fordddrs Soohdn C=10uF 3Frdoie 8aratoddds, L=6.0 uH @dsssn feo
QS Hdcin R=10Q oS30 I8¢ o 804 &b, 50 Hz Sooasw V=280 Ve
s SEE $850N ety TR FoTok SHTIE © SoarIE algBens Bl
@’S&Jggu

Options :

L BEW

> % 48W
. % 3mW

, « BmW

Question Number : 114 Question Id : 4928631874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If the magnetic field of a plane electromagnetic wave 1s given by

5x107° sin(O.G x10%x+0.5% IOIOI) . then the speed of the wave is

28 Ddde gL 08 S0l wobIF) o8 SV

53107 sin(0.6x10%x +0.5x10'°t) m 2289, & Sdof 56

Options :

| » 0.83x107 m/s

<108
5 0.83x<10° m/s

. x 5.24x10° m/s
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i 5.24x10° m/s

Question Number : 115 Question Id : 4928631875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

An 1solated lead ball 1s charged upon continuous irradiation by EM radiation of

wavelength (A) = 221 nm. The maximum potential attained by the lead ball. 1f 1ts work
function 1s 4.14 eV. 1s

(Take h = 6.63%x107* J.s. c =3x10° m/s. e = 1.6x107° C)

28 DASnE VDY 208 A=221 N SS0hFYE g0 Ko gEa, 08 J8GENE’ eIYHor
SIFHOTH. VY208 HA Paoohdn 4.14 eV wondPHd, ©& FoBd K0L FBIcHS
JS.c=3x108 m/s, e = 1.6x107? C rr &508S505%0)

. x 314V

g OSLY

Question Number : 116 Question Id : 4928631876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

An energy of 13.6 eV 1s equal to

13.6 eV &8 § DA

Options :

| % 0.518 x107>5 Kcal
25 1
_ » 6.04 %102 kWh

sig LIT*10%]
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217 x 107 KN.m

Question Number : 117 Question Id : 4928631877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

The frequency of light emitted when the electron makes transition from the level of principal
quantum number » =2 to the level with » =1 1s (Take the ionization energy of hydrogen to

be 13.6eVand j =~ 4x10~% eV-sec)

RS 550LR0 Jopg n=2Fow Jood n=1ans o JoE SoEdoedn TodYd
SDE TP08 DRG0
(@l ©oHEE0$8 = 13.6 eV 8ok = 4x1075 eVe-sec oo m B:58S0500)

Options :

| o 2.55 %101 Hz

s VTR0 T
. % 3.4x 108 Hz

, % 5.1x 1055 Hz

Question Number : 118 Question Id : 4928631878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

In a junction transistor, the collector current changes by 6.8 mA if the emitter current 1s
changed by 7 mA. For such transistor the current amplification factor 1s

o8 508 ErQRE Ho BTE DBE BTTED TMA T SrOS5YE T Hoisr IS
PTTEn 6.8 MA m Srs80d. RENS0E ErRHEHE DS BT 58S KoegSn

Options :

3 % 40
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4 % 45

Question Number : 119 Question Id : 4928631879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a p-n junction diode. an electric field of magnitude 2+10° V/m exists in the depletion
region. A particle with charge —3le| can diffuse from n-side to p-side. if it has minimum
kinetic energy 0.6 eV. The width of the depletion region of the p-n junction is

a8 P-NJ0s SRBrES BX (Fodod® 2x10° V/m H0dredn Ho dogs Bigo wHi.
—3le] 83§30 do uf i DEE NG P-EE) L IV TodLs 50N
805 8298 0.6 eV. p-ndod B (oY Idewy Jend

Options :
, = 300 nm

> % 600 nm
5 « 1000 nm

, » 1200 nm

Question Number : 120 Question Id : 4928631880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A person tries to broadcast with the same antenna both the signals at 10’ Hz and 10° Hz. If
the receiver at some distance has to receive an equal strength for both the frequencies. the
broadcaster has to approximately increase the signal strength at 10° Hz to 107 Hz by

o8 $g8 o8 woBa mgoe 107 Hz Sobosn 10° Hz Ko doseredy Harddn Sainiso
P08 T K. §Fod Srfod® ) TrHd & Tod FHhHogod o SEH0B
BrowsSB8808, & Hrdsud 10°Hz 58 feo $0880a%) 107 HZ 3088 887108 I Béw
ROWISN

Options :
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100 times
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Section Number :
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Number of Questions:

Number of Questions to be attempted:

Section Marks:
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Group All Questions:

Sub-Section Number:

Sub-Section Id:

Question Shuffling Allowed :
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49286346
3

Online
Mandatory
40
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No

|
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Question Number : 121 Question Id : 4928631881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
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. . 14_ 3-
Calculate the number of protons. neutrons and electrons respectivelyin N

-
NS 208 @aroes, drgirow 0o Jogee Sopger 80T

Options :

o 7520,
o T B A0
o 10,77

s % 1,7,7

Question Number : 122 Question Id : 4928631882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
The order of filling of electrons in orbitals in T 1s
1 8° e8\&rg)s® Jogeen ok B

Options :

1s. 2s, 2p, 3s. 3p. 3d and 4s

l.ﬁ

, o 18.25.2p. 3s.3p. 4s and 3d

Is. 2s. 2p. 3s. 4s. 3p and 3d

1s. 2s. 2p. 3s. 3d. 3p and 4s

Question Number : 123 Question Id : 4928631883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

The symbol of an element 1s Une. Its atomic number 1s

o8 Sorefy Sosssw Une o H8drem0 Sopg

Options :

[ ]
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4 110

» » 109
1

108

4.ﬂ

Question Number : 124 Question Id : 4928631884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Statement (a) : Na,O <MgO <ZnO <P,0, . — Acidic property

Statement (b) : F > Cl > Br—Electron gain enthalpy

Statement (¢) : M?-> M-> M* > M?" — jonic size

Statement (d) : The second 1onisation enthalpy of Cu 1s more than second 1onisation
enthalpy of K.

Q58e (a) Na,O <MgO < Zn0 <P,0,,— sk &80

D580 (b) F>Cl>Br —o'JeJLEgﬁ Sy QDG&”@Q

DHGew (€) M >M>M" > M?* — 09058 e

D58 (d) : Cu Bo0¥), Bodd @ohidn Joed), K Bwg), Sodd edbiides

QD@@J 508 Q&béﬁ

Which of the following is the correct representation of True (T) / False (F) for the given
statements

2 AS80S® 2D 830 (T)/ 28a0d 57 (F). 78R S Q0B §0d T78S* 5850858
87

Options :
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(a) (b) (c) (d)

(a) (b) (¢) (d)

Question Number : 125 Question Id : 4928631885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Group the molecules/ 1ons according to bond order

E08 LeHew / Bdrsod T8 wodER sFrdor Kryenr Bood

Options :

(03.Li,,05" )(F;.N,, He3' )

] =

(E,.05" . N, ) (05 Hel" . 1i,

23%

03.Li,.F,.He3™)(N,.0%")

o

(L3, B,.00" ) (M,.00 . Hel)

4.3&

Question Number : 126 Question Id : 4928631886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Match the bond order for the following molecules.

508 @0Hos woPHBD0 sFdomr 2ES58TDBW.

List-1 List-1I
e - | e - 11
(a) Li, (i) 3
(b) N, (1) 1.5
(g} Be, (111) 1.0
(d O, (av) 0
(v) 2

The correct answer 1s

o8 oI BT

Options :

@ @® ( (@
% (@) () @

(@ @® () (@
> () @ @) ()

@ (® (o) (d)
s (V) (@O (v ()

@ ® © @
Le ) G) ® @)

Question Number : 127 Question Id : 4928631887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Helium molecule 1s two times heavier than hydrogen molecule at 298 K. According to
kinetic theory. the average kinetic energy of helium at 298 K is

298 K 5¢ 0000 @y TrE'as @m0 o8 B0k 3Ly 2dH338. sentol drodsn
©5850 298 K 3¢ &rdcso din Koxis
Options :

Two times higher than a hydrogen molecule

TGRS w0l K82¥E oB Bodd By 8D

1. 8

Four times higher than a hydrogen molecule

. TERS @0y A8=¥E 508 Trool Bén 8D

Same as that of a hydrogen molecule

’ v TERS vy H8udEs® Jdrddwn

Half of a hydrogen molecule
- EBY w0 H8uI8ST SHdw

Question Number : 128 Question Id : 4928631888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio between the most probable speed of N, at 400 K and CO at 800 K is
(molar mass of N, = 28 g mol~'. molar mass of CO = 28 g mol™')

400 K 5 N, 509 Sogrdgd Im8 800 K 35§ CO Sozrdgd Ims Sodgheo 8.
(N,3rer8 ($5g078 28 gmol, CO 3rers (55073 28 g mol)

Options :

. .a 075
> % 0.25
- ¢ 0.707
ox 1414
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Question Number : 129 Question Id : 4928631889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Relative abundance (in percentage) of *C isotope 1s

HC o@FS*Y B8, FE d0)d (780&)

Options :

i 2 > 10—-10

2

<104

2

< 1073

Question Number : 130 Question Id : 4928631890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Calculate the molality of 1 litre solution of 93% H,SO, by w/v.

[de 5o, = 1.84 g/ec]

w4

93% H,SO, w/vie 1 0L (&) Iorardidd B88) oudw. [dﬂqso4 = 1.84 g/cc]

Options :

. v 10.42

Question Number : 131 Question Id : 4928631891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Amongst the chemical reactions given below, the reactions with increasing entropy are
Bod NS Tgees®, ILS* o™ HIHE0E?

I=&.g=

8) Oy >H0
b) C*tCO

—> 2C0(g)

| —

2g)

1)
d) ‘Ngjg)+03(g) — Mixtureof N, and O,

(N,, 0, © DoF55»)

Options :

1 3 a.b.C.d

5> % a.b.c

4 a.b.d

4 » b.C.d

Question Number : 132 Question Id : 4928631892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

For the formation of NH from N and H at 500 K. the concentration of N, H, and NH at

equilibrium are 1.5 x 102 M. 3.0 < 1072 M and 1.2 * 102 M. respectively. The equﬂlbruun
constant for the reverse reaction 1s

500 K 58 N, S08cs0 H, © &od NH,; 8k $6g, ddoarns 56 N, H, 500050
NH, o mgden 3&%dm 1.5 x 107 M, 3.0 x 102 M So8csx 1.2 x 107 M. & 35888
S8g8 DBEPE JT0EHW

Options :

| % 3.56 x 102
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LT S [

. & 3.56 x 1072

ok 281 %107

Question Number : 133 Question Id : 4928631893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Estimate the approximate pK, of 0.5 M CH,COOH. Degree of dissociation (ionization)
1s 0.15.

(log 1.32=0.12)

0.5 M CH,COOH &w>&, pK, & S8 88, 0thsn. dRrad (200d880) @56 0.15.

(log 1.32=0.12)

Options :
2. % 1.5

-

, o 1.88

Question Number : 134 Question Id : 4928631894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

The natural relative abundance of 1sotopes of hydrogen 1s

TE RS OFE YO dTe P D)

Options :

o 1H=99.985%; {D=0.015%

il 1H=99.985%: ;D=0.015%:; ;T=10""°%

[ ]
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1H=99.100%: *D=0.900%
3 %

1H=99.900%: ;D=0.010%: ;T=10"%

4 ®

Question Number : 135 Question Id : 4928631895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Calcrum on heating in N, yields an 1onic compound A, which reacts with water to give
Ca(OH), and a gas B. Identify A and B.

srdodod N, & SEVDIH B 058 DTG Abdgé’so&. 8 ASdgSod Ca(OH),
2850 Troind B o adyod. Addain B o Kogohw.

Options :

| % CaNz. NO
g,wc%NE‘ NH3

_  CaN,, NH,

2 Ca;N,. NO

Question Number : 136 Question Id : 4928631896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
The formula of Borax 1s

S'0°8) T
Options :
Na,B,0,-5H,0

| » v/ S |

. « Na,B,0,-TH,0

_, Na,B,0,-10H,0
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Na,B,0O,-2H,0

4.ﬂ

Question Number : 137 Question Id : 4928631897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which allotrope of carbon does each carbon atom form four bonds with other carbon
atoms?

o 50 Erdrodlod” B8 G0 V8T REBS 578\R JOITIOS TTLD VOT O
Ddﬁd:a:fgu&?

Options :

Graphite

="

Graphite and C

o T8 moam C

Diamond

B
- §mu5

Diamond and C,
3ok Hdodw C,

.

Question Number : 138 Question Id : 4928631898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Which of the following chemicals 1s NOT involved in photochemical smog formation

$od oIS 5F085Fo0N ﬁréﬁé‘ RTA ‘i‘)ﬂej:écﬁo'?
Options :

o SO,

O

> B 3

gcollegeduniaa

el



NO,

33 FA

, » NO

Question Number : 139 Question Id : 4928631899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

The IUPAC name of the following compound 1s

Bod JJ0¥SSw g, TUPAC &S0

O

OH
Options :
2-Hydroxy-5-oxoethylcyclohexane

2@y -Su8) SFE LTS

2-Ethyl-4-oxocyclohexanol
2-5:35-4-58 08T ES'S

3-Ethyl-4-hydroxycyclohexanone

|, 36364 Eg RE TS

6-Hydroxy-3-oxoethylcyclohexane
67 \&8)-3-w8) SF S 8 TS

Question Number : 140 Question Id : 4928631900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Number of possible constitutional isomers of alkane with formula C H,, 1s

CH,, 80 Ho s8) % dodD Ao S8 FEyTgo dowg

Options :
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4 % 10

Question Number : 141 Question Id : 4928631901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
In the process of formation of nitronium 1on. nitric acid acts as

SE*ACH0 TS INE (HEohe®, IS wio & GBS DIV
Options :
a base

| & sd0

an acid

a catalyst

i & @)080

a solvent

4%@?55’5

Question Number : 142 Question Id : 4928631902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

NaCl 1s heated in an atmosphere of sodium vapour. The resultant yellow colour 1s due to
the formation of

NaCl & &oho riryen o Teddnos” IATRFW. HHES DY 580k

[ ]
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Frenkel defect
sha @08S S*ren AL

Schottky defect

) % :T‘P@Er eS* e :Jcigéo&

F-centers

FoL8 Ddﬁ)é}tb
3 ¢ h?

Impurity defects
4 0O S'ren

Question Number : 143 Question Id : 4928631903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Calculate the approximate AT, (in K) for 0.001 molal KCl solution if its van't Hoff factor
1s 1.98.
[K, of water is 0.52 K kg mol™]

0.001 3rerd KClimrdend Totrd Heddn 1.98 vand ol AT, (Keod®) J 8§, 0thdoo.
[R& K, =0.52 K kg mol']

Options :

. x 103
. o 103 x 103

s % 103 x10°

ok 18 x 103

Question Number : 144 Question Id : 4928631904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Henry’s law constant for CO, in water 1s 1.67 kbar at 25°C. The quantity of CO, m 1000 mL

of soda water when packed under 5 bar CO, pressure at 25°C is

25°C 3¢ 8S* CO, B, W Rorossn 1.67 kbar. 25°C & 5 bar CO, wéSo 3¢

QoadPd, 1000 mL o & I8S* && CO, H8Sr00 Jod?

Options :

. = 0.084 mol
> » 0.167 mol

. % 0.252 mol

4 % 0.336 mol

Question Number : 145 Question Id : 4928631905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which of the following correctly represents Nernst equation?

[P = products : R =reactants]

DOGE IB)R DwEGbn Srdosd §od THS' J6?

Options :

AG = AG°+2.303 RTlogm

i [R]
AG = AG°-2.303 RTlog m
- [R]
AG® =AG + 2.303RTlog m
3.« [P]
AG®°=AG -2.303 RTlog m
4 ® [P]
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Question Number : 146 Question Id : 4928631906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

For a particular reaction. the rate constant becomes double on increasing temperature
from 27°C to 37°C. Calculate the approximate activation energy (in kcal mol™)
(R =2 cal mol-! K1)

28 /Y WEgH, eSS 27°C Sob 37°C & oRIHE Bén RT o8B0 ok By
©o008. ) G828 98 (kcal mol™ o&*) Ldrdom 8§ 0B0d.
(R=2 cal mol-! K1)

Options :

|« 1289
;o 12.89

3 % 128

ca Bl

Question Number : 147 Question Id : 4928631907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the correct statements from the following
a)  Inthe oxidation of oxalic acid with KMnO, in acid medium. Mn>* acts as auto catalyst

b) CdS colloidal solution can be precipitated by the addition of CI~10ns

¢) The gold numbers of three protective colloids (A. B. C) is 0.03. 25 and 0.25
respectively. Their protective power follows the order A> C > B

d)  Physisorption 1s an ureversible process

$o& TES” VOGS 3w HNfokod

a) ol JHEes” u5df wird) KMnO, &' «§jgdno mdoddHd, Mn** dobo
& @\5E50m S5Ba%080

b) Cl edirlod S S0l CdS Farowodd mTdoo ©l8d0no Dok

C) Do H08EE Ferand (A, B. C) o /G Sopgen S&dm 0.03. 25 Sodasw 0.25.
T8 D008 TR0z 8000, A>C>B

d) 88 ©oFimsn edrsah BB

Options :
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Question Number : 148 Question Id : 4928631908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

The oxidising and reducing agents respectively for the cyanide extraction of silver from
argentite ore are?

POt BPOBE H0& PRI Wod FolLB RVANIS JSoliTr JEES” GVRrHo

888 HoBasn EohEdm s ETer SKHIM

Options :

0,.€0

1. % v

_ « HNO,.CO

> O,.Zn dust (&)

>

. HNO,. Zn dust (&)
4 %

Question Number : 149 Question Id : 4928631909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
Aqueous ammonia readily dissolves AgCl because

20 ©370Sr AgClS Sodorr 88AK0E JokEsm

Options :

[ ]
gcollegedumaa
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l_ﬂ

NH

—

=

2

4 ¢

3
Ag” 5805w Cl voiraed «3>»

O

NH, molecules abstract chloride from AgCl to form NH,Cl

molecules readily solvate Ag™ and CI-10ns

NH, osoeo AgClSoos §B865 50rod NH,Cl & D880

A soluble complex Ag(NH, ); is formed

2§ E60 Ag(NH;), Soggsen D8k

A soluble complex Ag(NH,), is formed

w8 Eoto Ag(NH;), $oggsen D8ds

IVJeN vy @00 DoAY |TSD88m0 (solvate)

Question Number : 150 Question Id : 4928631910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

What 1s the final chemical form of Gold (Au) when it 1s dissolved in aqua regia?

GITESI0S” A'G E0ASYH T NSO EFaHS ErHo I8?

Options :

Question Number : 151 Question Id : 4928631911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

-

el
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Identify the correct actinide series from the following

BoB TS $00S ©§I& @B KH00S0s

Options :

. Nd.Np.No
" Pr. Pa. Pu
o Pa.Lr. Pu

4 » LuLr. Th

Question Number : 152 Question Id : 4928631912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Consider the complexes

$od JozTodh J0300Tod

a) Pd(NH3)2 ClBr]

(en = ethylenediamine)

The total number of geometrical 1somers of (a) 1s same as the total number of geometrical
isomers of

(en = REOSFLR)

() QY0 B BT Dopg, A& G0 F¥ FETge Dopgd DIrSH0

Options :
gcollegedumaa
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Question Number : 153 Question Id : 4928631913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Identify the monomers used in the manufacture of glyptal (X). dacron (Y) and
nylon 2-nylon 6 (Z).

636 (X). 3R (Y) 500050 s 2-30°) 6 (Z) o g ©

Options
R
(X) (Y) (Z)
COOH
4 on A [ENAA OH
HOOC . OH , HO NH,.HO g
2 *®
(X) (Y) (Z)
OH
@ H ol EaRAAK OH
=0 oH Mgl 2 oH .NH] X

[ ]
gcollegedumas
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(X) (Y) (Z)
0
COOH
OH QH, Q QH, O OH
4_33
(X) (Y) (Z)

Question Number : 154 Question Id : 4928631914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Which of the following is present in RNA only?

§od 8S° RNA &° S &0ddd 26?

Options :
®)
N "
- NH
<’Jfl
NN “NH,
; & H .
NH,
H:[J\
[ N
H N’J\\o
-, b 4 H
9)
. a jl\)kN—H
DN
3 ) H

[ ]
gcollegedumas
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4

O

H

NH

A

N
H

O

Question Number : 155 Question Id : 4928631915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Opiates have the following general structure

&E}dﬁadqg Bod ¥l o0 SR Golrow

The correct representation of R! and R? for codeine (X) and heroin (Y) is

53 (X) 08080 Trorows (Y) ofe 580 R! Sodoin R? en

Options :
(X) (Y)
RI RE Rl RE
OCH, | OH OAc | OAc
1. v
(X) (Y)
R! R? R! R°
: OH OCH OCH OAc

-
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collegedunia:

India’s largest Student Review Platform



tal
b

T

e

OH

OH

Question Number : 156 Question Id : 4928631916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following
List-1

(a) The reaction of 1. 6-dibromo
hexane with Zn

(b) Reaction of ethanol with concentrated

H, SO,at443 K
(¢) Major product in the reaction of

propene with HBr in the presence

of benzoyl peroxide

(d) The reactionof 1. 1-dibromopropane

with NaNH, at433 K

o8 B 2EJEHB0d
e -1

@) Zné&, 1. 63F 8w W

(b) 443K 3¢ meg H,S0,8 =85S €83
(c) HBr & Bosfond o8 $5050s* @S

WEGS” DR G BY0)H0

(d) 433K 58 NaNH, & 1, 1 3e"3r@ DS 565

The correct answer 1s

00 BONN 237720
Options :

@ G () @
L V) (@) () (@)

@ ® © @
,w i) @ () @)

List-1I
(i) H,C-C=CH

(i) H,C=CH,

(i) /\/Br

(1v) O

arda -1l
(1) H,C-C=CH
(11) H,C=€CH,

collegedunia
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(@ (b)) (o)
z x (1) () (@)

@ () (o)
Lx O 1) ()

Question Number : 157 Question Id : 4928631917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

The major product of the following reaction 1s

8od WEge® A BTE ey

Options :
ONa
Cl
1. %
ONa
CO,Na
2 R
- +
ONa
CHO
3 ¢

NaOH/H 0

-
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Question Number : 158 Question Id : 4928631918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following reaction leads to the formation of benzonitrile?

Sob :555365* ﬁoé‘@@eﬁé&) :Dcﬁad.)a’né& TAY,

Options :
Reaction of bromobenzene with KON

. KCN & 308025 565
1.

2. ¢
Reaction of aniline with NaNO, and HCl at 273 K followed by the reaction with CuCN

273 K38 NaNO, $:6a0 HCl & 2965 585, & 8656 CuCN &° 565

3 %
Reaction of bromobenzene with NaNO, and HCl at 273 K followed by the reaction
with CuCN

273 K& NaNO, So0adw HCl & §'3rBokS €63, & $0H56 CuCN &° $¢g

Reaction of aniline with KCN
KCN & 00 $8g

4 &

Question Number : 159 Question Id : 4928631919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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From the following reactions. identify the reactions that give carboxylic acids as products

§od HOges’ 577508 shdnodn S TLIT RFWYID

- 1) KMnO,/KOH
CH.CH,CH,CH,OH .
) 3l 2)dil. 0,50,
(DO )
Anhyd. AlCl,

b

;s (©>g)
1) @ o Cu,ClL,

1O,
. O 2) Zn-H,0

OH

1) NaOH
2"

F

V) +HCCl,

Options :
1 ® i. 111

4 1 iV
C w i, i
4 “ ll. iV

Question Number : 160 Question Id : 4928631920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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In the following reaction. the major product (P) formed i1s

Bod H6ge® A W adySkn (P)

2

NH
UNZCI @
+ IPE . :
T > P [major]

Options :

O
1. ® H
H,N
.
> ®

H
|
G0
3 8
4 ¢

bt
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